Math 10 100% Quiz Unit 5

Name

1. Graph the equation of a line
with x-int 5 and y-int -3:

Graph the equation of a line
with x-int 2 and y-int 3:

Graph the equation of a line
with x-int -3 and y-int -1:
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2. What are the x and What are the x and What are the x and

y-intercepts of the following
line? 3x+2y+6=0

y-intercepts of the following
line? 2x-4y-12=0

y-intercepts of the following
line? 5x+2y+30=0

3. Find the slope of the line
that passes through (-2,3) and
(5,-2)

Find the slope of the line that
passes through (-1,4) and
(2,-3)

Find the slope of the line that
passes through (-2,-3) and
(-5,-2)




4. Find the equation of a line
with slope %3 and y-int 5 in
slope intercept form:

Find the equation of a line
with slope-?5 and y-int 4 in
slope intercept form:

Find the equation of a line
with slope 5 and y-int % in
slope intercept form:

5. Graph y=2x-3
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Graph y=%x+1

Graph y=-x+5

6. Graph 2x+3y-6=0

M= 0
T T T T T T T T

ARSI
T

Graph 3x-2y-6=0

Graph 5x-2y+10=0




7. Graph y-3="5(x-2)
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Graph y-4=-2(x+1)

M= 0

Graph y+1=3(x+2)

M= 0
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8. Write the equation of the
line that goes through (-3,2)
and (-2,5) in all three forms

Write the equation of the line
that goes through (5,-2) and
(-2,-5) in all three forms

Write the equation of the line
that goes through (3,2) and
(-5,5) in all three forms




9. Write the equation of the
line that is parallel to
4x+8y-12=0 and goes through
(3,4) in general form

Write the equation of the line
that is parallel to 2x+y-1=0
and goes through (-2,3) in
general form

Write the equation of the line
that is parallel to 5x-15y-30=0
and goes through (-1,0) in
general form

10. Write the equation of the
vertical line that goes through
(3.4)

Write the equation of the
horizontal line that goes
through (5,-6)

Write the equation of the
vertical line that goes through
(0,5)




